0907432 Computer Design (Fall 2018)

Quiz 2
(R PRAY : olealocil 8) ans)

Instructions: Time 10 minutes. Open book and notes exam. No electronics. Please answer all problems in
the space provided and limit your answer to the space provided. No questions are allowed.
<Good Luck>

Q1. For the following virtual to physical address translation,

Virtual address

3180292827 «-nvvvveeeennnnnnnn 15141312111098 ----veev-- 3210

Virtual page number Page offset

DQ DG DT +rrerrrridiiiiiiiinn. 1514 13 12 11 1098-“-; ...... 3210

Physical page number Page offset

Physical address

a) how many page table entries are needed to perform all possible translations?
No. of page table entries = No. of virtual pages
= 220
= 1 Mega Entries
b) and what is the maximum page table size given that the size of each entry is 4 bytes?
Page table size = No. of entries x Entry size
=1Mx4

= 4 MBytes
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Q2. The following figure shows a RAID 4 system with five disks and 24 data blocks with their associated
parity blocks.

- N - N R - R -
0 1 2 3 PO
4 5 6 7 P1
8 9 10 1 P2
12 13 14 15 P3
16 17 18 19 P4
20 21 22 23 P5
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RAID 4

Draw a RAID 5 system of four disks showing 12 data blocks with their associated parity blocks.

Disk 1 Disk 2
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